AL - E= 1l R U IR R e ER

ek R HREmEI -
[ s HEST (] &yt [ se=eE WSk [ ks
(] e (] tenE (1 F55U% 15 [ &5 Jaxg-bdr= -+
iEsER | (OmRams 7T EORE (] gt y—% RELE (] ek (] n3As
(] 58 (] EEseazziet) oM ( )
[lEamms  (LEmReEsEd35ad. B9 3mRER6FIvILTT)
e O 25 | &REFIAE a LIxa A& (A>F) EIROBE | oo RU
MEEEEiE Hh@EME  Oxsgz OAsz OdesEm Ox zofs (I>9U-K ) g~
PRAEE Ok [ assitigek 0= zoftt (JO7-<vh )
FIATRERM AM 9:00 ~ PM 9:00 FI AR RhEED
—iAE mENE 0 [ |mstklE M
fAHES
Z5l0BE Oy BUL O s
pEEEZSI
mENE 0 A |mstlE =
FHREE & FAX mEs (1 3=)L (MEERHPAIDX—)LTA—L) O &Oo0s#
ARG [TETASPEAGRECEHRMIE CZULOFRTHARTEEX (FTEEENEFEE D)
EEETH ELTFOROBE | Ooo nL  [o#RHFE B
RORR SETOROEE | ov Qo [o#paTE [BE
b EEHA | KPACEALT ] [17xa SrEEOeHE sz [OFE fHAlE M
[ % fit| RFXE fit | KIEFA it
BUHUEMS [={unhiii 5 fit BB H
Y -EX Cuorbozg—ez OAE#ARY-E2  OFHY-£x  [JERY-t2
[t —-E251vs | [ dmepssy -2 XME - BERORMZRL
EHEBEROERK ®EH = HEIF$
IhKMEZR a m/a O e O7x=
BME-#H F0IEHET-IL s / & M/= M/E | Ose OF=
ORURR smammmga VT a /A Owe  Oxe
HRBEST )< & m/a Owe  OF=
samEnE (J-71>7)—n~X) =) m/8 O e Oxz
samEnE (J-71>9J3vh-) =} M/a8 Owe [OF=
B LTS =} m/a Owe [OF=
DAISYIxEXEB L2 =) m/a Owe [OF=
Xt EIBAST A M/ A F/h e O7x=
X EIRASEZE = M/Z O nE O7x=
MEEHT-EX CIa&n U M/a O e O7x=
RIS RE#HY-EXOFK ik s HATFH
H—EXAF [EEEQITYT-ORME &b U M/ A F/A | OwE OxE
BEN19>R &b RU FH/h F/AN | OxweE Ox=
BRI S LIRU| o RU H/h F/A | OwE OxE

1/2

1-2



xA-
ARt

ABIBR—k

POV AN EES

BOIFA

REEEE RBREEEE [ B/ AR [ sisAa]

FRNERS

e []FE

XPEEEOHNHEEFIRCEVWVTIR- MY EUHSSOMICOEEH

FULREH

“18

|

Rty —-EX
K%
(] i24tF 197

EXNESEA

O e smiEs
(Jaza=r—-33m-k
(] ExiBRIR

(] 5FH4R (ZPHR)
[ sEmuss

[ MR LA

[ JEasbs simisasinT

[ s =/ oLy b
e

(] FEEREORE

[ Z=rtsrEzERT

(] B S 3R > 9 -k
(] EmgEm (515>
[ Bhies

L1 742 A =AYb

IRRHkAE

i x

Cmgza-7-

B | Oez-hir B | Cuvaksy &

TUNF—HIEE

CI&b ]

BU HBRRERE | (oo gAY

PRl ZOI= TS

cm

=N
=

fel=

=l
MEFO
i

2817

T8 =H(A) AEHE(R) HBEEBE=(A)

hE:m

ER(ES)

HVS  —iE  mENE BERE] —ig | mERE —Af | EE5) @i

=ike

-1

164.37

0

=ikt

-2

Ao
=ikt

-3

Az

=k E —
st
REE-5

Bli% (man) -1

Bli% (@wan) -2

Bli% (man) -3

RIFR=E

76.72

A

16.14

F=-1

23.23

F=-2

14.72

fin-1 ( TfF=

34.35

ft-2 (

fi-3 (

SHREKICEMTEHZTO TV,

ft-4 (

)
)
)
ft-5 ( )

2/2

1-2



